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1. o faP v% Yed AR Sea 1x8=8
Choose the correct ariswex_' from the following :
(a) Society in India T AT (IF =
The author of the book, Society in Indiais
() @ ax. Jeem
. K. M. Kapadia
(i) . ISR
D. Mandelbam
(i) IV =W
Ram Ahuja
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‘The Dowry Prohlbmon Act’ was enacted
in the year

(i) 1956 v
1956

i) 1957 e
1957

(iii) 1961 5@

1961

P R et ey

The word ‘caste’ is originated from

B

" Greek

(@ Gﬁﬁj
Latin

(i) SRS die ey -

None of the above
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(e)
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(d) TR @ S e e
Which one is absent i in industrial soc1ety?‘

(i) wﬁﬁﬁﬂsw@%

Non-agncult_ure based economy

(i) AR T% T

Higher position of women

(i) v ~fRae 37 -

Joint family system

‘Tz’ B 1S RS ?
The word ‘N:ka.h’ is related with
() &Rz

Hindu Marriage

(ii)"iiﬁlﬂﬁm

Islam Marriage

(i) #= Rz

Christian Marriage
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Wh1ch of the followmg cannot be
identified as social- problem?-

S~

) "n'ﬂw TS ; T
Westernisation -

@ v
Urbanisation
_(iii) i‘[‘aﬂ@w of .

Politicisation

o ST T TS e
(9) e W | Gilaﬁ‘ﬁ A4 Ty

Stratification in the
e : .
was mainly based op arly Indian society

) =S ey
caste system
(i) «f
religion
(iii) :E’“ﬂﬂm _
ethnicity |
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(h) wWwww@m{ﬁﬂaam
@R T IO ?

Which of the following may be categonsed
as unsettled society?
(i) SRR I
Pr1rn1t1ve socxety
(i) A0 A&
Vﬂlage socxety

.(uz) FoIR A&

Urban society

2. vy G o, R con oiRGR (afSd 150 *Re
Rewe) ;- 4x4=16
Write short notes. on any four (within 150
words each) :

(d) T &S
Kinship system

(b) SRR TRTS
Poverty in India

(c) T
Sanskritization
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(d) o T g
Characteristics of urbax} society
@ wR
Dormitory 4
0 =R R P

. Occupaﬁonal theory of caste

8 R o ot oo Ser fn (2R 500 g
M):

Answer any . Sfour questions (wifhin 500
words each) :

" Whatis an -
otinctions... b Agrarian -
Industrial society. and

foran
R T 'SR Wi

WWW!

. on nuclear famite ™: :
.its functiong amily. Discuss

and propy,
modern family i, Ingia, ems related to

4+5+5=14

( Continued)
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(c) ﬁiW@WWI’WW! ) 14
“Hindu Marriage is a sacred institution.
Explain. :

(d) Wmmﬁmwwwﬁwqﬁ:ﬁ;m
PRITR iAol F90 1
Define caste ‘and discuss the faCtOfS
responsible for changing caste sygtem in
India. '

e et xfmﬁts\ IR 1R 7 S
© @f; AfSAIR I S TRTERI | 4+10=14

How is corruption deﬁned?' S}xgge.st
preventive measures for corruption in

India.

@ o R SR fficerme
@ o 41 4+10=14
enyfadieae T S

t is the meaning of modernization?
‘lg,ilsliuss modernization in Indian context.
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